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1. How much will a person with 72 N weight on the earth, weigh on the moon?
(A)12N (B)36 N (C)21N (D) 63N
2. As we go above the earth's surface, the value of g................
(A) increases (B) becomes zero (C) doesn't change (D) decreases
3. A satellite of mass 1000 kg revolves around the earth in a circular path. If the distance between the satellite and the

centre of the earth is 40000 km, find the gravitational force exerted on the satellite by the earth.

(A) 250.1IN (B) 350.1N (C) 450.1N (D) 150.1N
4o element belongs to the eighteenth group.

(A) Na (B) Cl (C) Fe (D) Ne
5. Halogens belong to group .............. in the modern periodic table.

(A) 15 (B) 16 (C) 17 (D) 18
6. Which of the following triads does not follow Dobereiner law of triads?

A) Li, Na, K (B) Ca, Sr, Ba (C) Be, Mg, Ca (D) Cu, Ag, Au

7. The device used for producing a current is called .............
(A) a voltmeter (B) a galvanometer (C) an ammeter (D) a generator
8. When an electric current is passed through a solenoid, it shows magnetic lines of force similartoa .............

(A) bar magnet (B) horseshoe magnet (C) disc magnet (D) spherical magnet.
9. is an example of anomalous behaviour of same
(A) Dew point (B) Solidification (C) Cracking of rocks (D) Evaporation
10. The latent heat of fusion of ice is...........
(A) 540 cal/g (B) 800 cal/g (C) 80 cal/g (D) 4 cal/g
11. Water expands on reducing its temperature below............. °C.
(A0 (B) 4 (©)5 (D) 12

12. If a ray of light passes from a denser medium to a rarer medium in a straight line, the angle of incidence must

(A) 0° (B) 30° (C) 60° (D) 90°
13. The process of separation of light into its component colours while it is passing through a medium is called ..........
(A) refraction (B) reflection (C) dispersion (D) internal reflection
14, is a good conductor of electricity.
(A) Bromine (B) lodine (C) Graphite (D) Sulphur
15, is a metalloid.
(A) Aluminum (B) Antimony (C) Zinc (D) Mercury
16. e, is an ore of aluminum.
(A) Cryolite (B) Bauxite (C) Hematite (D) Aluminum carbonate
17. prevents the rusting of iron.
(A) Copper (B) Zinc (C) Aluminum (D) Silver



18. .......... is the hardest substance and has the highest melting and boiling points.

(A) iodine (B) Sulphur (C) Diamond (D) Phosphorus
19. .......... is used as an anode during the electrolytic reduction of bauxite.

(A) Sulphur (B) Graphite (C) Platinum (D) Aluminum
20. In the Wilfley table method, the particles of gangue are separated by................. separation method.

(A) magnetic (B) froth floatation (C) hydraulic (D) gravitational

21. Carbonate ores are strongly heated in a limited supply of air to transform them into oxides, this process is called

(A) leaching (B) roasting (C) calcination (D) tinning
22. Which of the following satellite launchers is developed by India?

(A) INSAT (B) EDUSAT (C) IRNSS (D) PSLV
23. The minimum velocity of the spacecraft to escape from the earth's gravitational force must be................

A) 112 km/s (B) 11.2 km/s (C) 1L.12 km/s (D) 0.112 km/s
24. A bulb of 100 W is connected across a source of 200 V. Find the current drawn by it.

(A)0.7A (B)0.3 A (C)05A (D)0.1A
25. How many calories of heat will be absorbed when 2 kg of ice at 0 °C melts? (Specific latent heat of fusion of ice = 80
cal/g)

(A) 160000 cal (B)140000 cal (C) 120000 cal (D) 170000 cal

26. The number of electrons in the outermost shell of alkali metals is ........

(A)1 (B) 2 (©)3 (D) 7
27. Eka-boron was subsequently named as

(A) Gallium (B) germanium (C) scandium (D) molybdenum
28. The resistance of a wire is 100 Q. If it carries a current of 1 A for 10 seconds, the heat produced will be...........

(A) 1000J (B) 10J (©)0.1J (D) 10000 J

29. At the time of short circuit, the current in the circuit...........

(A) increases (B) decreases (C) remains the same (D) increases in steps
30, i is used to study the anomalous behavior of water.

(A) Calorimeter (B) Joule's apparatus (C) Hope's apparatus (D) Thermos flask
31. The latent heat of vaporization of water is..............

(A) 540 cal/g (B) 80 cal/g (C) 800 cal/g (D) 54 call/g
32. The density of water is maximum at...............

(A) 0°C (B) -4°C (C) 100°C (D) 4°C
33. The vapour content in the air is measured using a physical quantity called...............

(A) absolute humidity (B) relative humidity (C) dew point (D) humidity
34 . light is deviated the maximum in the spectrum of white light obtained with a glass prism .

A) Red (B) Yellow (C) Violet (D) Blue



35. For a particular value of i, the value of r becomes equal to 90°. This value of i is called the ..........

(A) critical angle (B) angle of deviation (C) angle of refraction (D) angle of emergence
36. o is an amphoteric oxide.

(A) Na:O (B) MgO (C) ZnO (D) SO2
37, is a metal which is in liquid form at ordinary temperature and pressure.

(A) Magnesium (B) Sodium (C) Scandium (D) Mercury
38. ... is an allotropic form of a nonmetal which conducts electricity.

(A) Sulphur (B) Chlorine (C) Graphite (D) iodine
39. Silver gets corroded due to.............. in air.

(A) oxygen (B) hydrogen sulphide (C) carbon dioxide (D) nitrogen
40. Silver gets corroded due to ............ in air.

(A) oxygen (B) hydrogen sulphide (C) carbon dioxide (D) nitrogen

41. What would be the correct order if Zn, Fe, Al and Cu are arranged in increasing order of reactivity?
(A) Cu, Fe, Zn, Al (B) Al, Cu, Fe, Zn (C) Zn, Al, Cu, Fe (D) Fe, Zn, Al, Cu
42. Gold plated ornaments is the example of ..............

(A) electroplating (B) anodizing (C) alloying (D) galvanizing
43. Which one of the following is a Low Earth Orbit (LEO) satellite?
A) Navigational satellite (B) Geostationary satellite
(C) International Space Station (D) Alll of the above
4. ... is a satellite launch vehicle.
(A) PSLV (B) GSAT (C) IRNSS (D) INSAT
45. The astronomical object closest to us is............... in our galaxy.
(A) Mars (B) Venus (C) Jupiter (D) Moon
46. Find the heat needed to raise the temperature of a piece of iron of mass 500 g by 20 °C. (¢ = 0.110 cal/g°C)
(A) 2100 cal (B) 1100 cal (C) 1200 cal (D) 3100 cal
47. Paddy fields are frequently attacked by................
(A) goats (B) birds (C) grasshoppers (D) monkeys
48. World Biodiversity Day is celebrated on............... every year.
(A) 22nd April (B) 5th June (C) 16th September (D) 22nd May
49. Genetic changes occur due to ................ pollution.
A) radioactive (B) air (C) water (D) sail
50. Which is the most abundant and renewable energy?
(A) Thermal power (B) Fossil fuels (C) Solar energy (D) Atomic power
51, i phase is highly complicated phase.
(A) Reconstruction (B) Recycling (C) Reuse (D) Redevelopment



52. Volcanois a............ disaster.

(A) social (B) political (C) biological
53 can be considered as the first example of wise-man.
(A) Australopithecus (B) Ramapithecus (C) Cro Magnon
54, i sanctuary of West Bengal is reserved for tigers.
(A) Gir (B) Sunderban (C) Molai
55. Out of the total plant species in the entire world 50,000 are ...............
(A) extinct (B) endemic (C) endangered
56. At ............... in Andhra Pradesh power plant based on natural gas has been installed.
(A) Hyderabad (B) Samaralkota (C) Vishakhapatnam
57. Which of the following is used in solar cooker to harvest the solar energy?
(A) Solar panels (B) Mirrors (C) Silicon cell
58. Supply of essential ................ to the affected people can reduce the effect of the disaster.
(A) food (B) commaodities (C) water

59. Evolution means...............

(A) gradual development (B) exchanges (C) transcription
60. Which of the following is not the source of green energy?

(A) Wind (B) Natural gas (C) Sunlight

Mathematics — 20 marks

61. When the degree of polynomial is .......... it is called a linear polynomial.

(A)O B)1 ©2
62. If A <0 then the roots of quadratic equation are ............

(A) Real and equal (B) Not real (C) Real and unequal
above

63. Out of the following equations which one is not a quadratic equation ?

(A)x2+4x=11+x2 (B) x2 = 4x (C)5x2=90
64. Tosolve x +y =3; 3x - 2y - 4 = 0 by determinant method find D.

(A)5 (B)1 (©) -5
65. Which of the following quadratic equations has roots 3, 5 ?

(A)x2-15x+8=0 (B) x2-8x+15=0 (C)x2+3x+5=0
66. 1 litre = ........... cm?3

(A) 100 (B) 1000 (C) 500
67. Who is the inventor of 'the sum of n term of an a.p.' ?

(A) Albert Einstein (B) Pythagoras (C) Srinivasa Ramanujan
68. What is the sum of the first 30 natural numbers ?

(A) 464 (B) 465 (C) 462

(D) geological

(D) Neanderthal man

(D) Corbett

(D) rare

(D) Kakinada

(D) Glass lid

(D) money

(D) differentiation

(D) Fossil fuel

(D) X

(D) None of the

(D) 2x-x2=x2+5

(D) -1

(D) x2+8x-15=0

(D) 1100

(D) Carl Gauss

(D) 461



69. If forany AP.d=5thentg-t13=............
(A)5 (B) 20 (C) 25

70. To draw graph of 4x + 5y = 19, Find y when x = 1.
(A) 4 (B)3 (€2

71. Inan A.P. 1st term is 1 and the last term is 20. The sum of all terms is = 399

thenn=...

(A) 42 (B) 38 (©) 21
72. GST is in effect from .........

(A) 1st July 2016 (B) 31st July 2016 (C) 1st June 2017
73.In A ABC, AB=6V3 cm, AC=12 cm BC = 6 cm. Find measure of ZA.

(A) 30° (B) 60° (C)90°
74. Brokerage is always calculated on............ value of shares.

(A) Place (B) Face (C) Fixed
75. GSTIN has ......... alpha numerals. It includes ........... digit PAN of the dealer.

(A) 10,15 (B) 10,12 (C) 15,10
76. GST payable = Output tax - ............... .

(A)ITC (B) OTC (C)UTC
77. If a, b, c are sides of a triangle and a2+b?=c2 name the type of triangle.

(A) Obtuse angled triangle (B) Right angled triangle (C) Acute angled triangle
78. Railway, taxi, buses transport services has............. Rate of GST.

(A)5% (B) 12 % (C)18%
79, i, circles pass through one point.

(A) Two (B) One (C) Infinite

80. Opposite angles of a cyclic quadrilateral are ..............
(A) Supplementary (B) Complementary (C) Adjacent

General Knowledge

81. What is the launch date for Chandrayaan 3 mission?

(D) 30

(D) -3

(D) 19

(D) 1st July 2017

(D) 45°

(D) Market

(D) 12,10

(D) CTC

(D) Equilateral triangle

(D) 28 %

(D) Zero

(D) Congruent

A) 24 July 2023 B) 14 July 2023 C) 13 July 2023 D) 04 July 2023

82. The Chandrayaan 3 mission’s rover is known as

A) Vikram B) Bheem C) Pragyaan D) Dhruv

83. The mission life of the Lander and Rover equal to

A) 14 Earth Days B) 24 Earth Days C) 16 Earth Days D) 12 Earth Days



84. Which launcher is used for Chandrayaan-3?

A) GSLV B) LVSM C) GSLV-MK3 D) PSLV
85. The mission objectives of Chandrayaan-3

A) To demonstrate Rover roving on the moon and

B) To demonstrate a Safe and Soft Landing on Lunar Surface

C) To conduct in-situ scientific experiments.

D) All of the above
86. How much did the Chandrayaan 3 mission cost?

A) 1200 Crores B) 960 Crores C) 600 Crores D) 540 Crores
87. What is the total weight of Chandrayaan 3?

A) 4,100 kilograms B) 3,900 kilograms C) 2,190 kilograms D) 5,200 kilograms
88. What is that one thing in Chandrayaan 3 and not in Chandrayaan 2?

A) Laser Doppler Velocimeter (LDV) B) Laser-based Interferometry

C) Ultrasonic Doppler methods D) Molecular Tagging Velocimetry
89. Which of the following is missing in Chandrayaan 3?

A) Rover B) Lander C) Orbiter D) None of the above
90. Who is the director of the Chandrayaan 3 mission?

A) Veeramuthuvel B) M Vanitha C) Ritu Karidhal D) K. Sivan
91. Where will Chandrayaan 3 land on the moon?

A) Near the South Pole B) Near the North Pole

C) In the equatorial region D) None of the above
92. What is the landing schedule for Chandrayaan 3?

A) August 29, 2023 B) August 25, 2023 C) August 23, 2023 D) August 24, 2023
93. How did Chandrayaan-2 welcomed Chandrayaan-3?

A) Hello Buddy! B) Hi Buddy! C) Welcome Buddy! D) Hey Buddy
94. Who is the Rocket Woman Behind Chandrayaan 3 Mission?

A) Moumita Datta B) Ritu Karidhal C) Nandini Harinath D) Tessy Thomas
95. What name is given to the Chandrayaan 3 landing spot?

A) Shiva-Shakti Point B) Shiva-Parvati Point C) Shiva-Shambhu Point D) Shiva-Bhakti Point
96. Which chemical element is found on Chandrayaan 3?

A) Titanium B) Sulphur C) Magnesium D) Chlorine
97. What is the launch date for the Aditya L1 Mission?

A) 14 August, 2023 B) 23 August, 2023 C) 2 Sept, 2023 D) 22 Sept, 2023



98. Who is launching the Aditya L1 Mission?

A) ROSCOSMOS B) NASA C) ISRO D) European Space Agency
99. How long the spacecraft will travel under the Aditya L1 mission?

A) 3.5 million kilometres B) 4.5 million kilometres

C) 2.1 million kilometres D) 1.5 million kilometres

100. Aditya L1 mission will observe:

A) Photosphere B) Chromosphere C) Outermost layers of the Sun D) All of the above
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(37) 1 [d 2016 (@) 31 J& 2016 (@) 1 9 2017 () 1 & 2017
73. @10 ABC T8, AB = 673 §HI, AC = 12 9HI BC = 6 T aR BT A= fbell

(31) 30° (&) 60° () 90° (S) 45°
74, ST B1 AGHI HTAR ATl Tdl.

(31) =f+t frma @) RR faa (@) frpe fbad (S) ASTRHTE
75.GSTIN ........... 3BT 3Rl W U Ao 3T R,

(30 10,15 @) 10,12 (@) 15,10 (S) 12,10
76. ¢4 SITACT = SMECYE T - ............... .

(3) SraEIt (@) ST () gEret (8) At
V©. 3, §, P T FABIoTeT 919 e SATiOT 312+ §2=h2 P IvTT=aT Yo R AT <.

(31 fa=mas = Bt (@) PIeHIH APV (F) TYBI ABI0T () Y F@ivr
78. Y0, SR, I ATEq@ 9T AAiaR SgadrdT a3 fard Tab 3Tg.

(31) 5 % @) 12% (@) 18 % (S) 28 %
79, oo o1 fdgae ade wram.

(30 @) TP () 3d ®) A
80. TP APV fAFTF BT ... ST,

(30 TP («) waidt CIRIEINE () gHTa

HTHTY AT

81. ITEa 3 AIfGH UUU dRIG ST 37Tg?

31) 24 9 2023 ) 14 90 2023 ®) 13 9 2023 $) 04 J 2023
82. AT 3 MigHd Ve WU 3NBEe SiTd.

3) faspH &) Wi &) TN ) 4d
83. HeR AT g M BIZH THME 3]

30) 14 g2t feaq §) 24 32 fGaw %) 16 32 fdawq 8) 12 3t feaw

84, TGYM-3 T3] S0 Y&AUD dTRS ST1d?

3) GSLV &) LVSM P) GSLV-MK3 8) PSLV

13



85. AIGIM-3 T AigHd 3D

3f) TgTaR fthRd 3G aT UegXd Ui T
§) TSI YRUFTIAR JRIE 301 7, e ez HRul
&) SFGR a1 TR HR0).
) o Tg
86. AT 3 MGAATS! fobell @ 31T
31) 1200 HIct ) 960 PIcT P) 600 HICT 8) 540 DIt
87. AT 3 d THUT g fobdil 3MTg?
31) 4,100 fporH ) 3,900 fpoRH $) 2,190 fhoRH 8) 5,200 BRI
88. TG 3 U ol Th 7Y BT 3HTg 3107 AigdH 2 AL g1
31) B3R STTeR ISR (LDV) &) S-SR SRS
D) Ude HUTHR oAl (Ao SIUeR Ugdl  S) JHTUadh <RI dolRmc!
89. ATEAT 3 AL WISIGUD! BV T 3T5?
3N AR ) B %) 3fffefex 3) Wols! BrRe! ARl
90. TG 3 HfgHd HATGD HIUT Ted?
3N) dRGYA® o) TH g @) RqaRys )&, R
91. I 3 TR $& FJaAS?
3f) Gf&fUT YdToracs §) IR YarIas
) fagagrita wemd S) RIBUD! BIETE! TeN
92. IEA 3 I BfST dBTUAD B 3152
3) 29 3R 2023 ) 25 3R 2023 $) 23 3TRC 2023 8) 24 3R 2023

93. IIGIT-2 = IGAM-3 o WRTA HY Ho?

3)) gl ! ) T TSN F)JoPA TS ) § dan

94, T 3 Fr=reaT T SRS ST JMhe gH BT 3112

3f) T =l §) Rgaiye @) Afe i sy ) ot ufmw
95. TG 3 BIST WicHT B A1d UATd 3115 3HT?
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96. AT 3 AR DIV D Ieh ATGH?

31) TR ) QIR &) HAREH 8) FORI
97. 3Mfec o1 =M U&Yur aRRE &1 38 2p

3) 14 3RS, 2023 §) 23 3RS, 2023 P) 2 TGP, 2023 8) 22 UK, 2023
98. 3 TS 1 AR BV = Hd 3Tg?

37) ROSCOSMOS §) NASA %) ISRO ) JRIMT WY Tort
99. 3Mfeed L1 =R Siald sicRTesar ol dTes Jar de?

31) 3.5 q2oY fhomeR ) 4.5 GR10Y fpomicR

®) 2.1 CRE [ 8)1.5620d fhadiex

100. 3ffed L1 =M Fteor &ie:
3) BIIRBIR ) HHIRFR %) P AT IRAG W B) NS 9d
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